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(1) ab—2a+8—16 (2) 224102425 (3) z2+62—27 16) <x+i><x—i>=x2—<i>2=x2—i
4) z2-9 (5) 224102421 (6) z°—2—90 (7) z’—8z+16 2 2 2 4
8) y’—dy—21 ©9) 22—27—48 (10) 3z2—162+5 17) (z+)z+2)=2°+(1+2)Xz+1X2=2"+3z+2
1) z2—2%y+y? (12) 2’—64 (13) 62%+zy — 15y (18) (@a—5)a+2)=a’+(=54+3)Xa—5%X3=a?—2a—15
(14) 2?—3z—40 (15) 4a’+122+9 (16) xZ—% A7) 2%+3z+2 (19) (x—%y>2=xz—2><%y><x+%y><%y=xz—xy+%y2
18 a’—2—15 (19 2—ey+ly? @0 2?—1le+10 (200 (z—1)Nz—10)=22+(—1—10)Xz—1X(—10)=22— 11z +10
4 21) (@+6)?*=a’*+2X6xa+6x6=a’+12a+36
Q1) a’+12a+36 (22) xz—}-%x—% (23) 27— 92+ 14 22 (x_% <x+%>=xz+<_%+%>m_%X%ZIZJF%I_%
(24) 2°-36 (25 2a°—17a+8  (26) z’+52—6 (23) (x—TNz—2)=2’+(—T—2)Xz—TX(—2)=2’—9%2+14
@) z'+14z+49 (28) a’—4%* 24) (6+z)z—6)=(z+6)z—6)=2>—6"=2>—36
(1) (e+8)b—2)=ab—2a+8 —16 (25) (2a —1)a—8)=2a Xa+2a X(—8)+a X (—1)+(—1)x(—8)=2a%—17a +8
@) (z+45°=2"+2X5Xz+5X5=2"+10z+25 (26) (x—1(z+6)=2’+(—1+6)Xz+(—1)X6=2"+52—6
@) (z—=3)z+9)=2"+(-3+9)Xz—3X9=a"+2—-27 @7) (e+77=22+2XTXz+TXT=2"+ 14z +49
@) (z+43)e—3)=2"—3"=z"—9 (28) (Tb+a)a—Tb)=(a+Tb)a—Tb)=a’—(Tb)*=a>— 49>
5) (z+3)z+T=2+B+7)Xz+3XT7=22+10z +21
6) (z+9z—10)=2>+(9—10)Xz+9X(—10)=z2—z—90
(7) (x—4)’=zx?—2Xx4Xzx+4X4=2"—8z+16
B (y—Ty+3)=y*+(—=7+3)Xy—Tx3=y*—4y—21
Q) (z4+6)x—8) =x24+(6—8)X2+6X(—8)=22—22r—48
(10) (Bz—1)Nz—5)=3z2+32X(=5)+(—=1)Xz—1X(=5)
=32*— 15—z +5=32°—16z+5
11) (z—y)=z’—2XzXy+yXy=2>—2zry+y*
(12) (z+8)z—8)=22—8*=22—64
(13) (22 —3y)(3z+5y) =2z X 3z + 2x X 5y — 3y X 3x — 3y X Sy
=6x2+10zy — 9zy — 15y 2 =622 + 2y — 15y 2
(14) (z—8)z+5) =z +(—8+5)Xz—8X5=22—32x—40
(15) (2a +3)*=(2a)*+2%X2a X3+3Xx3=4a*+12a +9




